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SET - 4
S,
Series : HRK/NSQF/C o, 532
. TliefTefl IS i IT-GRETeh o TE-T3
A . .
T I o1 |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

®  HUAT AT H T foh 38 Y- H Gl I83 6 + 1 TH=A & |

o  TH-UH H qife 81 oh AR fEU T i TR ol BT It-Yien! & J@-T% W o7 |

o HUIT ST HL A fh T TA-TA F 29 WA F |

o HUAT T I IR T Y& A § &, T 1 shHieh 3Hasd ferd |

o 3T YYH-TA I UeH o 1T 15 firee o1 ww T o 8 | weA - o T qate § 10.15 s
foRaT SITE | 10.15 S F 10,30 ST G BT hael Y¥-T ol T 37 30 319 6 SR o
IAL-YEThT T HIE IR T fora@ |

e Please check that this question paper contains 6 printed pages + 1 Map.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

GeteTd qO&T — 11
SUMMATIVE ASSESSMENT - 11
SOCIAL SCIENCE
fFeiia a7 : 3 &2 STIHTT 37 - 90
Time allowed : 3 hours Maximum Marks : 90
532 1 [P.T.O.

Downl oaded From : http://cbseportal .con Court esy


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

Wﬁ%ﬂ:
(i) 59 FFT-97 4 Fo729 F97 8 | T 397 S7far 3 |
(ii)  Fo% T & 37 I THA [T TTE |
(iii) F¥7 GEIT1 T8 TF 3T Tg-307 797 & | §ei% J971 3% HT1 3 |
(iv) 7 G&IT9 G20 TF I 9% F97 3 3% BT & | 377 & Iedieh J97 T It 80 Jeg] & 37ferh
1 &1 811 T |
(v) F97 GEIT21 T 28 TF JAF JT 5 b BT 8 | 570 @ IAF Fo7 BT I 120 Y15l @
3T1e% %7 781 &1 18T |
(vi) ¥ GEIT29 THITT GEa-¢ 397 6 3% FT & (3 37 FIaard 7T 3 37 YicT) |
(vii) ¥R §T HHIH 1 3971 FTH-GIAHT & 35T Toa BT /|
General Instructions :
(i)  The question paper has 29 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. Each
question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 21 to 28 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

(vi) Question number 29 is a map question of 6 marks (3 marks from History and
3 marks from Geography).

(vii) Attach the filled up map inside your answer-book.

1. 3ICHATE &I 3% TE HINT | 1
YT
FHETE 1 37 TIE IV |
Explain the meaning of ‘Liberalism’.

OR
Explain the meaning of ‘Syncretic’.

2. WRAH “HHIG G 1 AT T IThI CERE i aTel HSH o1 AT AT | 1
Name the organisation which undertakes construction and maintenance of ‘border
roads’.

3. Sifcrfer™ § qT o THSientor o foeg fopd EaH 3 STeIa o Aqed TeRall ? 1
Name the organisation which led the movement against privatisation of water in
Bolivia.
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13.
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T H 33 eI o afirs 3ewd w1 wrw i | 1

Explain the specific aim of movement in Nepal.

“Aehditeh Gu ford shad & ? 1

What is meant by ‘Democratic Reform’ ?

Teg fafm yomeht it srafifea awen w1 e FHif | 1

Explain the inherent problem of ‘Barter System’.

“Qyeitenur shl i HifT | 1

Define ‘globalisation’.

AT H o 19 TR shl 3T T “ehid] A1’ Shid AT §eh IR HidT & ? 1

Which bank issues ‘currency notes’ in India on behalf of Central Government ?

“THIEET ST’ <h! Th1d | TFATE 3hi Tgel! T8 AT FI1 WHT a1 & ? T8 hifT | 3x1=3
3Udl

“FrITTH TR ShTEITET < hesl o STG foRITHTIHET o1 STTATaTeh ITHehi oh AT Sa o Tt

&1 § THUS 1 g TR 7 T hIRT |

Why is the ‘French Revolution’ supposed first clear expression of nationalism in

France ?

OR

Why did the colonization of Vietnam by the French brought the people of the country
into conflict with the colonizers in all areas of life ? Explain.

o fored g3 o WRd T R i T sl Ui ShiTT | 3x1=3

Describe any three effects of the ‘First World War’ on India.

stTfeaeht ferami 3 wgTe mef) % Gewr 3R U o o= w61 = 31 e ? wm
i | 3x1=3

How did the Tribal Peasants interpreted the message of Mahatma Gandhi and the idea
of ‘Swaraj’ ? Explain.

i guR e & 3fd rfard vy § 17 Sua 6 3grewen afgd gfy Hifv | 3x1=3

“Minerals are an indispensable part of our lives.” Support the statement with
examples.

T STeaw | it e e o Ha ol 9uiH HifeT | 3x1=3
Describe the importance of cotton textile industry in Indian economy.
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A H ‘Teeh Tiegd’ s gaeaisi &1 fogaivn sifs | 3x1=3

Analyse the problems of road transport in India.

Toreeh et o i g el b i i | 3x1=3

Describe the three major components of political party.

TArehas ol STRER, THaR 3T 99 ITHe S aTet goat s faver o Hifv | 3x1=3

Analyse the values that make democracy an accountable, responsive and legitimate
government.

qETE g’ 37 SAErer TSifd <l fobet TehR oferd ohtd & ¢ Tase <hifTa | 3

How do ‘pressure groups’ and ‘movements’ influence the politics ? Explain.

JIehTuT ST FgTaT o H SEUTH Hufi o ANTEH I FuiH HIRAT | 3x1=3

Describe the contribution of Multinational Corporations to promote globalization.

TEUER T gy S 1 3 § Sied § fop YR HeEe 8 7 IQE |igd w7y
HIfr | 3x1=3

How Multinational Corporations (MNCs) are helpful to connect distance countries ?
Explain with examples.

I H SUHRAT STTGITH o ST o Tohegl <l Ul sl T8 HIRT | 3x1=3

Explain any three reasons responsible for arising of consumer movement in India.

1830 o g3reh | 0T | 3118 31THAeh hiSTeal w1 qui I | 5x1=5
YT

forram & “ammrsTaTg forieft wend” & wfgenati o Jrte %1 v Hifvu |
Describe the economic hardships faced in Europe during the 1830s.

OR
Describe the role of women in the ‘anti-imperialist struggle’ in Vietnam.

a71fefer A TR RA | 3TN eI’ o JATffeh AId 9T e THTel shl e hifse | 5x1=5

Explain the impact of ‘Non-Cooperation Movement’ on the economic front in India.

T § T IR SHoll FTEHT o IUFNT o bl uier o1} ot i shifaT | 5x1=5
Describe any five benefits of the use of ‘non-conventional sources of energy’ in India.
4
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I <l STATEATA I THITEd i STCT Tohral Ui hIhI ohl TIT HITIT | 5x1=5

Explain any five factors affecting the location of industries.

IR T TSIceh gl § R o fohral Ui SUTAT <hl SRS SHITTT | 5x1=5

Explain any five measures to reform political parties in India.

“EATehdTi=eh JTE SHIEATY TRIeh AEHHAIAT bl A Hid § 31ftres T%hae fe@rs T8l Tt
2 17 Y 6T IgTeLvil Afga gie Hifere | 5

“Democracies are not appearing to be very successful in reducing economic

inequalities.” Support the statement with examples.

AR J WA <hi TfeTeree bl fhe TehR uTferd R ? IeTetur eot wrE hify | 5x1=5

How has ‘globalisation’ affected Indian economy ? Explain with examples.

IANIHIS b Tohegl dre STTURRT oh! T HINT | 5

Explain any five rights of consumers.

(29.1) 9@ o e ¢ Tetifores Tar-amies # i @ero A, B 31t C siferd fpg mu & |
et SRR Sl TEraT § 37 &0 ol T 3R 39 Fel A1 A=
¥ 31fera {@T3Tl W fTha - 3x1=3
A. T TIH &l IRATE TE hi o Sferee gt o |
B. 98 ¥, J&l it sl Wefl A aAret fham1 3T 3TTGIer SR g3 o7 |
C. Sfeiara sm § gafd TR |

In the given political outline map of India three features A, B and C are
marked. Identify these features with the help of the following informations
and write their correct names on the lines marked in the map :

A. The place where Indian National Congress Session was held.

B. The place where the ‘Movement of Indigo Planters’ was started.

C. The city related to Jallianwala Bagh incident.
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(29.2) 9RA % Tt AT WW-AMtE § Fefefaa o suge & @ gy 3k
3o 7 TR - 3x1=3

(i) hife — @ wg o
(ii) T — TETY] Snoll T
(iii) wgTard} — 8T 3TN $9uTa |3

On the same political map of India, locate and label the following with
appropriate symbols :

(1) Kochi —Major seaport
(i1)) Narora — Nuclear Power Plant

(ii1)) Bhadrawati — Iron and steel plant

e : Tfafaa e aa gieafea et o foTe o7 S 29 6 o W E - 6x1=6
(29.1) 3 TAH 1 W TARGT T fegewak 1920 H WA TFR SHRE 1 STTUE9H 53 |
(29.2) 39 T &1 T ferfaw, SET fia i Tt HE A TFEED F1 TG Ty

BT |

(29.3) 3| T 1 A4 foAfan, Srai Sferatarett ST 6t T g8 |
(29.4) hifa g T fpa Tsa A fRa 2 2
(29.5) I AT Heit w2 fope Toar H fRa 8 2
(29.6) I8 TS &1 A4 [IRA &1 AT AAIET SR FETq T R 1 |

Note : The following questions are for the Visually Impaired Candidates only, in lieu of
Q. No. 29.

(29.1) Name the place, where Indian National Congress Session was held in
December 1920.

(29.2) Name the place where Indigo Planters Movement started.
(29.3) Name the state where Jallianwala Bagh incident took place.
(29.4) In which state is the Kochi seaport situated ?

(29.5) In which state is Narora Nuclear Power Plant situated ?

(29.6) Name the state where Bhadrawati iron and steel plant is situated.
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% . 29 % foiw At
Map for Q. No. 29

mmmmemee e FEREE -mmmmm--

WA T Y@ AT (!Ia'v-ﬁfﬁiﬁ)
Outline Map of India (Political)
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